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—R 6/13(1) 6/27(%) 6/28(8)
JIE 15z HE kB R E
1R 2R 3R 4R SF F
‘I 1 HE % 16. (BT EEX)
Fit 2& 16. (ZLTBER) I
2 bye
Ll 00, (EH. ED 11:35
4 BER EE 10. (V=—EXK) ) E—
T8 BE 10. (V=—EX) 015
5 hF 'z 21. (Ya—) ’
HE &M 21 ()3-) T o1
6 Nk Fi 23. (Fx—) )
=% B 23. (Fx)—)
7 LIFE HER 08. FFEARTC)
wiE EA 00. (£8). 7£1¥) 10:15
-I 6 8 #]AR BEX 10. (V=—[EXK) )
R Ak 10. (V=—FEXK)
9 9 wa & . (FrLo)
AR A M. (FrL D)
10 bye
11 ERulEE 05.(NTT R&D) 11:35
FH ZX 05.(NTT R&D) 10:15
12 ®Ek RE 29. (T-MACH) )
Big s 29. (T-MACH) 9:15
13 P BB 25. (HLTC) '
=i BT 25.(HLTC) 10:15
14 BiR & 03. (77B—FTC) '
15 bye
8 % 16 H+ A 23. (Fx)—)
£F RBE 23. (Fx')—) 9:55 I
3 = 17 EXRI EE 15. (BETY) ‘
B oax s 5. (BET )
18 bye
(g EFE = %5 (HLTO) 11:35
Tt EiT 25. (HLTC) 10:15
ERXK BEA 10. (V=—EXK) 9:15
21 4 B— 00. (f£%h. #1¥) '
h¥ B 00. (f£8h. #1¥) 10:55
29 KE Rif 15. (BETY) '
B EH 15 (BET ) 1215
23 bye
13 24 M E— 21. (Y)a—)
BK 5 21. ()3-)
R B 10. (V=—[EX)
26 bye
o7 W& 7= 15 (BET5) B
BRI 15 (RET ) 10°55
28 IR E— 22. (YINE 1)) )
AR BB 13.(T. 0. P) 9:15
29 KK EX 15. (HETY) '
B B 15. (HETY) 10:55
30 18 BRI& 20. (A3iLEXK) )
1£18 ik 20. (AILER) 12:15
31 bye
6 32 2 JA 3. (Fr L)
MHE B— N (FrLrd)
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— K 6/13 (1) 6/27(%) 6/28(8)
JIE 15z HE k2 kI
1R 2R 3R 4R SF
5 33 HF EX 15. (BETY)
KEF BN 08. FREARTC)
34 bye
:IéI:IE.I Eﬁﬁﬁl 23 (9:1 U_) 1055
36 EH FEZ 00. (£8). 1) )
"mE BE 00. (£8). &) 9:15
37 il & M. (F¥2RXTC) ’
il FX 11. (F¥2XTC) 11:35
38 KR E17 02. (ERTH&FT) )
TR 02. (BEARTH#&F) 12:55
39 bye
‘I O 40 FH 16. (ZET@EXR)
BR EA 16. (ETHEENXK)
-I 5 41 B #h 04 (7o)
HE F=— 04. (72 1Y)
42 bye
43 PR E 04 (7o) 14:15
44 ® Zmse 17.(FLRFTC) '
A WA 08. BTEARTC) 9:15
45 g =it 3. (Fr L) '
46 & = 20. (AiLEXK) )
HEE B 20. (A3IERK) 14:15
47 bye
4 E 48 Wi Bz 10. UV =—EX)
FH EE 10. (V=—FEXK) 9:55 I I
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B 4 wm an 08. FEAT C)
50 bye
o1 TH A 00, (7. =) 14:15
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59 EE R 15. (HETY) '
&8 BE 15. (BETY) 9:55
53 EHEE 2 15. (BETY) '
54 BiG Bt 00. (£8). 1) '
= - 00. (f£%h. #1F) 14:15
55 bye
-I -I 56 A BB 20. (AiLEXK)
FLE E=E 20. (AILER)
1 4 57 ek BA 05.(NTT R&D)
R Eth 05.(NTT R&D)
58 bye
5o FE KB o mREETe) D
ARA =% 01. (EXEMET C) 12:55
60 EE ER 00. (£8. &) )
[ di! 00. (F£%8h. #1F) 9:55
61 K B 05.(NTT R&D) ‘
&H R 05.(NTT R&D) 12:55
62 R RF 04. (7)) )
63 bye
2 64 S N = 17.(FLRFTC)
WH {27 N (FrLrd)
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